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National Cyber Olympiad

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE ASKED TO DO SO
Guidelines for the Candidate

1. Adalional 10 Ten) minutes wil bo given o tho students o il up thastudents'Information beforo tho start o the oxam.

2. Thopaperconsisisofthree sections —
Mntal Avity (15 Questons), Logical and Analytical Reasoning (16 Quostons) and Computer and nformation
Tochnology (20 Questons).

Alquostons are compuisory and cary oqual marks. Therois nonegative marking, Usa of calculator s notpermited.
Wite your Name, Roll No. and Class cleary onthe Answer Sheat and dornot forget03ign.

Thorois only one correct answor henca markone choico only.

om s w

‘Darken yourchoice with HB Pencilo Blue/Black BallPoint Pen. For Example:
Q.16: Bbis equal

® tote @ 1K8  (©1MB (D) 168 [c@®0© 6
‘Asthe correct answeris 0ption No. (A).the candidate should darkentho circle &)

7. Roughwork should be donein the blank space provided nthe booklel.
8. Returm the answer sheet to the invigiator at the end of the exam. The question paper can be retained by the
student,
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MENTAL ABILITY

1. Xand Y are two equal squares. The total shaded area of the squares is 56 o N7
Find the length of each squaro. -

® 10em ® 8om 3
© 9em © Sem X Y

2 A vectangutar park has  perimotor of 80 m and width of 12 m: What s the langth of the park 7
™ 24m ® 8 m © Bm © 44m

3 Two simiar ongihs of wir aro used to form a rectangle, 12 cm by 6 cm, and an equllateral trianglo. What
is the length of each side of the triangle 7

sem)

TZem
W 12em ® 10cm (© 6om © 8em

o table shows tho temperaturo on four conseculve days In winter of Jammu and Kashmir.
g o o o

Day | Tomporature at6:00 At
Thursday —ATC
Friday —10°C
Saturday —18°C
[ Sunday —9°C
Which day had tho coldest morning?
() Thursday (@ Fiday (©) saturday () Sunday

5. Wihieh numbar belongs o tho box to make the number santence bolow: true?
102x3=100x3+ I3

™ 5 ® 2 © 3 © 4
5. Use the figuro given on the right to answer tho question. 5
Which angles in the given figure are ACUTE angles? %
(A) Angles Aand B A
® Angles Band £
(© Angees Cand €
() Angles Aand D D
7. Gompute the following expression :
195 436+ 710+ 10225
() 25 ®) 28 © 0 © 20
2. Which of the following triangles represents an oquiltoral tiangle?
sen
e sem/\gem sem/ \gom 6 cm
® ) © ©
Sam Son sc

Fom
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what is the value of [T] that makes the equation balow truc?
100_,

w 15 ® 2 © © 75

0. 11 2 whole numbor is divisiblo by 2,3, and 9 then it must bo divisible by which number?
" & ® 1 © 17 ® 1

1. Which numbor line balow best represents tho problem 7
~20-(10)= ]

Jusrd |

% W oo @ W
L= T o W 2 o %
o 5|
T S0 20 0o 1 2 B 4

) = 1

40 30 20 -0 0 10 20 33 4

12, In a sequence of numbers 1, 4, 10, 22, 2, 94; tho valuo of (2) is

w ® 2 © © @
1%, Which of the following can be used to find tho missing number in the number sentenco below?
4xD=58
W sexd ® 5504 © -4 © ss-4
16, How many squares does the figure have?
® 5 ® ¢ © 7 © 1©

15, Monit fs making frendship bracelets. It takes him 2 minutes to make 1 inch of a bracalot. If he works at
the same apeod, how many minutes will it take him to make § inches of a bracolet?
® 7m ® 11mins (©) 10mins. © 12mins

LOGICAL AND ANALYTICAL REASONING

16, Jyotireceived Rs. 0 as 3 gift. Sho wantad to use the money 10 go to the mavies and to buy  baok. She
anted to save the money sho had left. Which is the correct order of stops to find the amount of money
Jyoti would have left to save?

StopK: Find the sum of the cost of the movio and the book.
Step L Find the difforence betwoen Rs.70 and the sum of the cost of the movio and the book.
‘Step M: Identify the cost of the movie and the cost of the book.

" LKM ® MKL © LMK © KLM
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17, N, Monisha planted 1 red tllp, 2 ollow tlips,  rod ulps, and 7 yellow tulips i a row of her garder-
f she continues this pattern, what will she plant next?

(A 11 yelow tullps (®) 10red tulps (©) 11 red ips (@ 10 yelow wips

16, What number Is next in this pattern?.
1,4,9,18,25,36,

®w ® 4 © © %

Yo, T are 25 rad boans and 10 bluo beans In a a. You pck ane bean from thejar without looking. Which
statement is always true?
(A) You have a greater chance of choosing a fed bean.
(8) You have an equa chance of choosing a ted bean or a b bean.
(€} You have no chance of choosing a blue bean.
(0) You wil choose @ red bean.

0 Represents 1
Represents -1

ased on the representations shown, which of the following s rue?
w [000.® ®®® 000

00 - @ @ 500
o (0% o

21, Which figure appoars to have exactly one pair of parallel sidos?

we— (!’O ety \mE

22. Which statement is true about both pyramid and cone?
(&) Both have a rectanguler base. (8) Both have a circular base.
(©) Both have atleast one vertex (D) Both have at least one triangular face.

75, wWhat throo dimensional abject will be formed when tho figuro bolow Is foded on the

hed lines?

(A) Cyinder ® Cone () Sauarepyamid (o) Rectangularprism
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24 Look at the equation mat given below :

s
.
o Ul
e

® 3 ® 2 © 7 © 1

0000
000

25 Look at the table given below:

Which rule best describes the relationship betwaen all the x and  in the table?
(R) Add 210 the xvalue to g he yvaiue (8) Divice the yvalue by 2 to getthe xvalve

(€) Sublcact 14 from the y-value to getthe x-value (D) Multply the x-value by 3 to get the y-value

26, Jyotsana multiplied each term in the pattern below by the same number
1,4, %6, 64,

If the pattern continues, what will be the 6th term?
@ 112 ® 8 © 102 © 2%

27. A variablo is

(&) Anumber in an expression representing sum and/or difference
(B) The numericalfactor ina term

() Amathematical sentence stating that two expressions are equal
(0) A symbol used to represent an unspecified member of a set

28, A dolphin is 30 feat below the surface of tho water. She rises 23 fect and goes 17 feot down and finally
rises anothor 27 feat. If there are no other changes, dolphin is

(8) 3 feetbelow the surface o the water (8) 63 feetabove the surface o the water
(©) 3 fectabove the suraco of thewater (0) 63 feot below th surface of the water
25, What is the valu of x for which the following equation s truo?.
20¢= 40
3 4
® 3 ® 3 © o ©

30. Lok at Sot V and Sot W shown bolow:
SetV=(1,3,5,7,9, ...}
SetW=(3,6,9, 12,15, 1
Which of the following numbers could belong to both Set V and Set W?
® 3 ® 25 © 2t © 31

COMPUTERS AND INFORMATION TECHNOLOGY.

31.. In MS-Word, you can sped up the formatting of table and any complex table formatting can be appliod
to tables in a flash using:
A Tae (®) Formating (©) Formatpainter ©) Macros.
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is Integrated nto the e-mail system for chatting in Gmail.
A Googletalk ® m (© Reditbol © Noneofthose

s the most convenient and fastest way to communicate
() Postal Mai ® Emal (©) Couter (© Speedpost

34. A program or a piece of code that s loaded on your computer without your knowledge and runs ag:
your wishos is called
") Vius ® Anivius (© Sppvare © Anti spyware

s A is a system that prevents unauthorized use and access to your computor
W) Antiinus ®) Popupblocker (© Frewal (© Noneofthese

36. You €an al5o dOWNIOAd ....veuvn t00IBF 1o block popup
) Google ® Yonoo (€) Both(A)and(8) (D) Neneof these

37. Whon you want to talk publicly with a largo group of peaple you use
() Instantmessagirg  (8) Internetchatroom  (C) Both (A)and(8)  (©) E-mail

38, In Google the topmost link in the result page
(A) Has the most chances of containing relevant information
(B) Has the least chances of containing relevant information
(€) Both (A) and (8)
(0) None of these.

39. Change Case option ean bo usod from
() Fie Menu ®) Fomathenu (€) Tools Menu ©) InsertMeny

40. Tho filos created in Power Point have
) poc ® XS

© o

1. In MS Word Mail Merge
everyone in mail merge.
(A Data source ® Main Document (©) Newbocument () Noneofthese

ture, . ... conslsts of the actual document you want to sen

42, Search Engine is often used to specifically describe systems like
() GoogleandYahoo  (B) MSNandAtaVista  (C) Excite © Alof these

What is not truo about mail merge:

(&) Only one document needs to be composed for communicating to an extensive lst of people.

(8) Each document can be personalised for every person.

(€) It can oniy contain same detalls for all the people whether relevant or not.

(D) Errors can be eliminated in all resulting documents, provided the main document and data sourct
orror free.

44 Popular o-mall programs from Microsoft ar:

(&) Microsoft Outiook Express. (8) Microsoft Outiook
(€) Both (A) and (8) (D) Thunder bird
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45, In 1S Word, Mac
(A) Ave helptl in epetive tasks
{8) Ave nothing but recorded commands that can be played again
{©) Can'speed up things blazingly fast
(©) Al e sbove
6. Wit tho following in ordor.
SUM=NT+ N2
© ® © @
Enter two numbers,
NIEND
©
Wabcde @ cdaes ©decab D daecd
7. s Kind ofprinter tha uses dots o form charactrs on tho papar.Tiny pins press theribbon onthe papar.
“These pins produce the characters on the page. This printer is known as.
() Daisywhectprter (@) Indatprinter © Liepriter ©) ot mauix prnter
48, In 48 Power Point, shortcut key to Insert a new siido Is
™ CTRL+L ® CTRL+ M © CTRLeN © cTRL+O
48, Widcard characters includ the ollowing:
@ ® 7 © Bon Wand® O +
50, An mail address typically has which main parts?
(A) Username (B) Hostservername C) Toplevel domain @) Allof these.
'SPACE FOR ROUGH WORK
L m G
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